CSE 326 Reading Quiz

Name: ______________________ Score: ____

Friday 8/11/00

1. T/F Finding the median in a collection of elements is a special case of the “selection problem.”

2. The basic Quickselect algorithm (based on Quicksort, as described earlier in the course) is generally quite fast.  What is the reason for trying to find a different algorithm?


To improve the worst-case behavior of the basic Quickselect


To improve the average-case behavior of the basic Quickselect


To avoid having to sort the array before applying the basic Quickselect

3. The improvement in the improved Quickselect algorithm comes from..


the way the pivot is selected


preprocessing the array to remove duplicates


using the mean value instead of the median

4. T/F Multiplying two numbers is always a constant-time operation.

5. Multiplying two N by N  matrices, by directly implementing the definition of matrix multiplication, leads to a simple algorithm which is


O(N)


O(N2)


O(N3)


O(2N) 

6. The naive recursive implementation for computing the Nth Fibonacci number is


O(N)


O(N2)


O(N3)


O(2N) 

7. The non-recursive implementation of Fibonacci which makes use of a “table” (stored values) is


O(N)


O(N2)


O(N3)


O(2N) 

8. Let A, B, and C be matrices. The problem of “ordering matrix multiplications” means which of the following:


Deciding whether A(BC) is faster than (AB)C, etc.


Deciding whether (AB)C is faster than (BA)C or A(CB), etc.


Deciding whether A < B < C, or B < A < C, etc.

